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Answers

1. D

2. D

3. D

4. C

5. A

6. A

7. D

8. D

9. A

10. A

11. A

12. D

13. C

14. D

15. A

Solve each problem.

1) Which choice is a
multiple of 10?

A. 206

B. 202

C. 155

D. 110

2) Which choice is a
multiple of 10?

A. 192

B. 202

C. 198

D. 160

3) Which choice is a
multiple of 9?

A. 107

B. 155

C. 101

D. 144

4) Which choice is a
multiple of 3?

A. 61

B. 49

C. 48

D. 59

5) Which choice is a
multiple of 10?

A. 200

B. 136

C. 138

D. 178

6) Which choice is a
multiple of 9?

A. 99

B. 186

C. 146

D. 102

7) Which choice is a
multiple of 5?

A. 102

B. 92

C. 82

D. 70

8) Which choice is a
multiple of 3?

A. 56

B. 53

C. 34

D. 57

9) Which choice is a
multiple of 9?

A. 153

B. 173

C. 163

D. 122

10) Which choice is a
multiple of 2?

A. 24

B. 33

C. 25

D. 27

11) Which choice is a
multiple of 3?

A. 48

B. 35

C. 40

D. 56

12) Which choice is a
multiple of 6?

A. 95

B. 119

C. 70

D. 96

13) Which choice is a
multiple of 2?

A. 31

B. 41

C. 28

D. 25

14) Which choice is a
multiple of 5?

A. 87

B. 101

C. 78

D. 100

15) Which choice is a
multiple of 2?

A. 22

B. 29

C. 31

D. 23
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